










Arrange the given words in the sequence in which they occur in the dictionary. 
1. Decollete
2. Desecrate 
3. Decorous 
4. Desipicable
5. Destitute 

A. 13245 
B. 15243 
C. 32451 
D. 45231



Statements :

All toys are tasks.

No task is a tree.

Conclusions :

I. No tree is a task.

II. A few tasks are toys.

EXAMPLE

कथन: 
सभी टॉय टास्कहैं।

कोई टास्कटर ी नही ीं है।

ननष्कर्ष: 
कोई टर ी टास्कनही ीं है।

कुछ टास्क खिलौने हैं।



Statements :

All toys are tasks.

No task is a tree.

Conclusions :

I. No tree is a task.

II. A few tasks are toys.

EXAMPLE



Find the missing  :-

100 , 60 , 80 , 150 , ?

1. 300
2. 210
3. 310
4. 340
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Find the missing :-

1495 : 11 :: 2659 : ?

(A) 44 
(B) 33
(C) 55
(D) 22
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Find the option which should replace (?)

3 ( 21 ) 92

5 ( ? ) 18

7( 21) 74

(A) 28

(B) 25

(C) 35
(D) 38



Find the missing  :-

(A)12
(B)22
(C) 25
(D)21
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11 17 8

5 3 15

3 7 ?

361 729 1225



Find the ODD ONE (?)

(A) 10m

(B) 13p

(C) 15p

(D) 20w



Find the SQUARE (?)

(A) 14 

(B) 12   

(C) 15

(D) NOT



Find the option which should replace (?)

43 : 26 : 4  ::  52 : 36 : ?

(A) 27

(B) 16

(C) 25
(D) 81



Find the option which should replace (?)

7 , 9 , 25 , 28 , ?

(A) 31

(B) 29.5

(C) 28.5
(D) 30.5



Find the option which should replace (?)

8 * 2 * 5 = 2645

5 * 7 * 3 = 7253

9 * 6 * 5 = ?

(A) 5369

(B) 6259

(C) 6815
(D) 9256



Find the option which should replace (?)

81 : 64 ::  32 : ?

(A) 25

(B) 16

(C) 35
(D) 49



Find the missing  :-

1. 68
2. 71
3. 53
4. 76
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8

6 54 7

4

12

8 51 4

7

14

9 ? 5

9



Find the MISSING (?)

752 : 28 :: 623 : ?

(A) 41

(B) 42

(C) 45
(D) 46
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